Borlange BK

Barometer m hcp 2022-02-15

Partavling, 4 bord, 8 par. Antal brickor: 28. Medel: 84.0.

Plac Par Poéng % Namn MID Klubb
1 3 100.1 59.56 Maria Kivi - Karl-Inge Jansson 62708 62707 Borléange BK
2 5 96.0 57.14 Sonny Arvidsson - Kent Olsson 1349 81354 Borlange BK
3 7 92.5 55.06 Per-Ake Good - Mats Larsson 13641 241 Borlange BK
4 2 82.5 49.11 Monika Savberg - Marianne Lofquist 55135 58570 Borléange BK
5 8 79.0 47.01 Lola Hallman - Gunilla Wikblad 60348 53251 Borlange BK
6 4 76.2 45.34 Johanna Granlund - Monica Eriksson 20440 81404 Borlange BK
7 1 74.6 44.40 Tony Laszlo - Sven Nilsson 60350 58997 Borléange BK
8 6 71.2 42.37 Kjell Lundgvist - Curt Wikblad 38578 43258 Borlange BK
1 4 KD2 2 4 D92 3 49653 4 « DKn1074
Nord v EDKn32 Ost v- Syd v 109 Vast v94
Ingen +D2 NS + KDKn32 (0)%) 4965 Alla ¢+ ED6
»E82 #E9854 #DKn104 D92
« E8743 &#Kn9 4 EKN1063 75 s E74 « KDKn10 2 K653 #E2
v8 v K10954 vK10932 v ES864 vD8732 vKn65 vEK83 vKn65
75 + K104 ¢ E7 +54 ¢ DKn10 ¢ K2 +5 ¢ K9742
#D9653 #Knl07 *K #107632 #93 #EK72 #10843 #765
41065 & K84 482 498
v76 v DKn75 v EK4 vD1072
+ EKn9863 + 10986 ¢ E8743 ¢ Kn1083
*K4 #DKn #865 #EKKn
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poéang
72 3NS+3 #8 490 6.000|7 2 5vDO-2¢K 300 6000|722 3vV+l ¢9 -170 6.000(6 3 3NN= ¢2 600 5010
45 3NN+2 4J 460 4.020|8 1 3¢ N+1 47 130 4020(63 3NO= ¢4 -600 4020(81 3NN= +2 600 5010
81 2NN= «J 120 204.0(45 3vyV-2 ¢K 100 1.050(45 4vV= 46 -620 1.05.0|7 2 Pass 2.0 4.0
63 3NS-3 #3 -150 006.0(|6 3 34V-2 &#A 100 105081 4v0O0= 48 -620 1.050(45 3NS-1 vA -100 0.0 6.0
5 » KKn10652 6 .- 7 « ED4 8 .-
Nord v32 Ost v EKn9642 Syd vKn3 Vast v EK865
NS + DKn5 ov + Kn983 Alla .- Ingen + EKKn982
*84 #Kn109 #KDKn98753 *42
+D9 « E84 49653 4 EKKn108 4 K1032 4 Kn765 4 K76 48432
vyDKn8 v954 vKD v 85 vK10742 %9 v94 vD7
¢ 10763 ¢ EK984 ¢+D76 454 +73 ¢+ EDKNn10854 +D7654 ¢ 10
#EKNn93 #KD #ED87 #K642 £102 &E *K95 #E108763
473 4 D742 498  EDKn1095
v EK1076 v 1073 v ED865 v Kn1032
2 + EK102 + K962 +3
#107652 #53 *64 #DKn
Par Kontr ut Res Poéang | Par Kontr Ut Res Poéang | Par Kontr Ut Res Poéang | Par Kontr ut Res Poéang
74 3#V-3 ¢v3 150 6.000|56 44 0-2 ¢A 200 6.000|56 44N+2 ¢A 170 6.000(56 6vy N+1 T 1010 6.0 0.0
56 3NO-1 v6 50 3030(13 340-1 ¢A 100 3.030|74 3#aN+2 v9 150 3.03.0|13 4vN+1 #5 450 3.03.0
82 3NO-1 v6 50 3.030(74 440-1 ¢A 100 3030(|82 44N+1 ¢A 150 3030(74 5¢N= T 450 3.030
13 3NO= vA -400 006.0(8 2 44 0= ¥3 -620 006.0(1 3 3¢DO=#6 -670 006.0|82 4¢v N= &A 420 0.06.0
9 » Kn9763 10 & Kn872 11 410 12 & EKn8
Nord v Kn105 Ost v Kn5 Syd vE52 Vast v Kn92
ov + Kn73 Alla + E108 Ingen ¢ K7542 NS ¢ E954
#Kn3 +D1083 #K932 #KD5
& E5 & K842 aD « E1096 « E8432 4D9 « D102 497543
vE63 v K42 v EK109 v 762 vK106 v DKn9843 v8 v D643
¢ 842 ¢+ EKD109 ¢ DKn6542 ¢ 93 ¢Kn83 ¢D6 +D10872 ¢ 63
#EK982 &7 #Kn2 #K754 *87 #EDS #8732 &E9
4 D10 & K543  KKn765 & K6
v D987 v D843 v7 v EK1075
465 + K7 + E109 ¢ KKn
#D10654 *E96 #Kn1064 #Kn1064
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poéang
15 3NV+2 43 660 5010(83 2¢ V-1 ¢vJ 100 6.000(83 4v0-2 ¢9 100 6.000|15 6NN= 43 1440 6.0 0.0
83 3NV+2 43 -660 5010(6 7 24 N-1 ¢9 -100 4.0 2.0|6 7 Pass 4020|6 7 4v S+2 42 680 4.020
24 3NV+3 43 -690 1.050(15 INN-2 49 -200 1.050(|15 24 O+1 #J -140 10502 4 4vy N+1 #A 650 2.0 4.0
67 3NV+3 46 690 1.050(24 34S-2 ¢Q -200 1.050(24 29 O+1 ¢T -140 1.050|8 3 4v N= #A 620 0.06.0
13 4 D1094 14 & Kn932 15 ~ E84 16 « Kn8
Nord vE103 Ost vD Syd v D63 Vast v 7542
Alla + EK109 Ingen ¢ 754 NS + D109 ov + Kn95
*K6 #DKn1087 #KD104 #KKn108
» EK3 a72 4« K1086 4754 41075 4 K962 41096 &K52
v7 v KDKn8652 vKn93 v 1076 v 972 v 854 v1063 v KDKn
+ D84 463 + D6 ¢ E10832 ¢ EKN643 ¢ 87 ¢ EK84 ¢ D103
#Kn108543 &#D7 #K932 %64 &E2 #Kn985 #ED3 #9764
& Kn865 4 ED 4 DKn3 4 ED743
v94 v EK8542 v EKKn10 vE98
+ Kn752 + KKn9 + K52 4762
#E92 #E5 #763 #52
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poéang | Par Kontr Ut Res Poéang
84 44V-3 ¢K 300 6.000(71 4vS+1 ¢Q 450 5010|26 3NS= ¢4 600 600026 3¢V-2 4J 200 6.000
71 24 N+1 vK 140 4020(84 4vS+1 T 450 5010|335 2¢vS+1 #A 140 4.020|71 INO-1 4«3 100 4.02.0
26 2v0= &A -110 1050(26 4vS= ¢Q 420 2040|71 24S+1 44 110 2040|35 INO+1 43 -120 2.0 4.0
35 2v0= #2 -110 1.050|35 3v S+l 48 170 006.0|/84 3vS-1 #A -100 006.0(8 4 2NV+1 #8 -150 0.0 6.0
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17 « D64 18 ~E3 19 « DKn86 20 « KD1063
Nord v 954 Ost v KKn75 Syd v EKKn Vast v Kn62
Ingen + E654 NS + D832 ov 464 Alla 49854
#EK3 #643 #K942 &K
4 K5 4 Kn972 « Kn96 « KD8742 442 4 E1073 4 EKN752 «-
vD32 v EK6 vD4 vE2 vD1098 v765 vEK983 ¢D105
¢ KDKn93 ¢ 87 ¢+ KKn109765 ¢ E ¢ K8732 ¢ E9 ¢ 72 ¢ EK
#DKn7 #10862 &D #KKn102 »86 #Kn1053 *3 #DKn1087654
« E1083 105 & K95 # 984
vKn1087 v 109863 v 432 v74
+ 102 *4 ¢ DKn105 ¢ DKn1063
#954 #E9875 &ED7 #E92
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
12 2¢ V+1l #A -110 5010(46 590-1 ¢4 50 6.000(46 3NS= ¢8 400 6.00.0|37 6vyV-2 &K 200 6.00.0
46 2¢ V+1 v5 -110 5.01.0(|1 2 44 O= ¢4 -420 4020|85 2NS+1 v9 150 402012 6#0-1 +«Q 100 3.0 3.0
85 2NV= 4 -120 2040(85 54 O= ¢4 -450 204.0|37 24 N= #J 110 2040(46 3NO-1 «Q 100 3.03.0
37 INV+2 5 -150 0.06.0(3 7 44 V+2 ¢4 -480 0.06.0|1 2 44 N-1 +A -50 0.06.0|85 540= ¢Q -600 0.0 6.0
21 a7 22 a5 23 .- 24 « EKKn954
Nord v EKD86 Ost v 10762 Syd v Kn965 Vast v EDKn4
NS + EK74 (0)Y) + K643 Alla ¢ KKn1092 Ingen +3
#953 »K1064 #K1052 #K3
«EDKn5 410986432 « EDKNn9764 41082 4 ED1098652 & KKn73 41083 &4D2
v 102 v5 vEK vKn53 v 104 v K87 v 63 v 1095
¢ D953 ¢ Knl06 ¢ED ¢ Kn72 +3 +54 ¢ ED652 +9
&#Kn84  #K6 #95 #EDKn2 «Kn4 #E986 #972 #EKN108654
o K K3 a4 476
v Kn9743 v D984 vED32 v K872
+82 + 10985 + ED876 + KKn10874
#ED1072 #873 &D73 &D
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
41 6vyS= 4A 1430 6000|23 44 V+l #4 -650 6000(57 5vDS= 3 850 6.000(41 4vS+1 &2 450 6.0 0.0
57 64aDO-49v3 800 4020|57 4e4V+2 v6 -680 3.03.0|23 5¢ S+1 4A 620 402023 4vN= ¢9 420 2040
23 4vyN+1 T 650 1.050(86 44 V+2 ¢3 -680 3.03.0|4 1 54V-2 ¢9 200 204057 4vS= &2 420 2040
86 4v N+1 T 650 1.050(41 64V= 2 -1430 006.0|/86 54V-1 ¢K 100 006086 49y N= &A 420 2040
25 s E 26 4 ED9 27 4 KD643 28 4 E5
Nord v E932 Ost vKn4 Syd v76 Vast v63
oV ¢ EKn75 Alla + KKn6 Ingen + K53 NS + 106543
«D843 #ED762 #872 #K1084
43 « D9654 « Knl106 & K5432 4985 4 E2 4 DKn109873 442
v Kn864 vKD1075 vEKD6 ¢1075 vKKn1098 vED4 vE v Kn10985
+ D102 +6 ¢E543 +D2 ¢ E974 + DKn862 + Kn82 +D9
#EKN1065 #97 #93 #Kn108 *4 #K103 #93 #DKn62
& KKn10872 487 4 Knl107 & K6
v- v 9832 v532 vKD742
¢ K9843 ¢ 10987 +10 ¢ EK7
K2 »K54 #EDKnN965 #E75
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poéang
34 5¢ N= ¢K 400 6.000(34 INN+1 3 120 6.00.0|3 4 4vV-1 43 50 6000(34 34V-2 v3 100 5010
61 24S+1 2 140 4020(52 2¢vV-1 &#A 100 3.030|52 2¢0+2 ¢T -170 40208 7 34V-2 v6 100 5010
87 3vV-1 #3 100 2040(61 24V-1 vJ 100 3030|61 4v0O0= T -420 1050(52 4vS-3 #9 -300 2.04.0
52 44 N-1 ¢K -50 006.0|87 24 O+1 #4 -140 0.06.0(8 7 4y O= T -420 1.050(|6 1 4vDS-24Q -500 0.0 6.0
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